Multiply by Multiples of 10, 100 and 1000
LI: Use tables knowledge to answer questions involving multiples of 10, 100 and 1000
Part 1: Multiples of 10Now try these using the same strategy.
40 x 3 = _______
50 x 6 = _______
70 x 8= _______
9 x 30 = _______


Example: 3 x 4 = 12    so   30 x 4 = 120
3 x 6 = _____ so   30 x 6 = _______
5 x 9 = _____ so   50 x 9 = _______
6 x 7 = _____ so    6 x 70 = _______
8 x 7 = _____ so    80 x 7 = _______
9 x 4 = _____ so    9 x 40 = _______
Now try these using the same strategy.
400 x 3 = _______
500 x 6 = _______
700 x 8= _______
9 x 300 = _______


Part 2: Multiples of 100
3 x 4 = _____ so   300 x 4 = _______
5 x 9 = _____ so   500 x 9 = _______
6 x 7 = _____ so    6 x 700 = _______
8 x 7 = _____ so    800 x 7 = _______

Part 3Part 4: Challenge!
Can you apply the same strategy to division?
450 ÷ 5 = _____     e.g. 45 ÷ 5 = 9 so 450 ÷ 5 = 90
7,200 ÷ 9 = _____ 
280 ÷ 7 = _____ 
42,000 ÷ 6 = ______ 
4,900 ÷ 7 = _____ 
32,000 ÷ 80= _______
18,000 ÷ 60 = ________


60 x 3 = _______
800 x 6 = _______
9,000 x 7 = ________
7000 x 8= _______
9 x 70 = _______
4,000 x 7 = _______
500 x 3 = _________
3000 x 9 = _________
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